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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1-  If you want to excel at what you love and take your skills to the next level, you need

tomake a ......ccceevnennnn. to both yourself and your craft.
1) commitment 2) passion 3) statement 4) venture
2-  Itis usually difficult to ..........ccceueeee. clearly between fact and fiction in her books.
1) gloat 2) rely 3) raise 4) distinguish
3-  Some people seem to lack a moral .................... , but those who have one are
capable of making the right choice when confronted with difficult decisions.
1) aspect 2) compass 3) dilemma 4) sensation
4-  The factual error may be insignificant; but it is surprising in a book put out by a/an
.................... academic publisher.
1) complacent 2) incipient 3) prestigious 4) notorious
5- In a society conditioned for instant .................... , most people want quick results.
1) marrow 2) gratification 3) spontaneity 4) consternation
6- One medically-qualified official was .................. that a product could be so

beneficial and yet not have its medical benefit matched by commensurate
commercial opportunity.

1) incredulous 2) quintessential 3) appeased 4) exhilarated
7-  Some aspects of zoological gardens always ..........cccuveenee. me, because animals are

put there expressly for the entertainment of the public.

1) deliberate 2) surmise 3) patronize 4) appall

PART B: Cloze Test

Online learning has been around for years, but it really took off during the
COVID-19 pandemic. Many schools and universities .................... (8) transition
to online learning, and this trend is likely to continue in the future. There are many
benefits to online learning, .................... (9) accessibility and flexibility. Students
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12-

13-

can learn at their own pace, and from anywhere in the world. Online learning
.................. (10) affordable than traditional in-person learning, making education
more accessible to a wider range of students.

1) forced to 2) have forced

3) were forced to 4) forcing

1) including increased 2) they include increasing
3) and increase 4) they are increased

1) is also more 2) also to be more

3) which is also more 4) is also so

PART C: Reading Comprehension

PASSAGE 1:

Manufacturing production in handicraft establishments is a definite and specific
form of economic organization. [1] The census classification made in various
countries varies, but it will be convenient to think of it as consisting of production
in small, independent manufacturing establishments, employing up to five persons,
and utilizing not more than twenty horsepower. [2] There is a master of the
establishment with a staff of craftsmen and apprentices.

The very small unit of production and the strict handicraft form exist in both
mature and underdeveloped economies. Germany, for example, has a considerable
handicraft sector. Handicraft production is not, however, of the same order in all
countries. [3] For example, Romanian handicrafts are much more primitive in craft
and organization than Austrian handicrafts. The average real output in handicraft
establishments was smaller in Rumania than in Austria before the war. But while
handicrafts are a ubiquitous system of production, they are much more important
relatively in underdeveloped regions than in advanced economic systems. [4] In
fact, in the former, it is the handicraft establishment and not the factory, which
typifies the structure of manufacturing.

What does paragraph 1 mainly discuss?

1) The origin of manufacturing production in a specific field

2) The characteristics of a certain form of economic organization

3) The importance of census in assessment of economic organizations
4) The advantages of handicraft establishment compared with its rivals

The word “considerable” in paragraph 2 is closest in meaning to ...................... .
1) famous 2) organized 3) traditional 4) significant
The word “they” in paragraph 2 refers to ..........cccccueeeee .

1) regions 2) systems

3) handicrafts 4) establishments
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According to the passage, which of the following statements is true?

1) In underdeveloped regions, the handicraft establishment typifies the structure of
manufacturing.

2) The structure of manufacturing is the same in both underdeveloped regions and
advanced economic systems.

3) Each handicraft establishment employs up to a dozen people, and utilize not
more than twenty horsepower.

4) Handicrafts play a more significant role in advanced economic systems than in
underdeveloped regions.

In which position marked by [1], |2], [3] or [4], can the following sentence best be inserted

in the passage?

The level of organization and the nature and degree of refinement of the product

vary between countries and between poorer and richer regions of the same country.

D [1] 2)[2] 3)[3] 4) [4]
PASSAGE 2:

The world of glassblowers is a relatively closed society with its own history, language,
customs and future. In America this world is increasingly around us, for in the past 15
years we have turned from the assembly line production of glasses with their precise
uniformity towards the unique individuality of hand-blown vessels. Each piece is as
much of an individual as the glassblower himself.

Understanding this world comes through an understanding of the glass-blowing
process. First, a gather of glass is made by inserting the blowpipe into a tank of molten
glass. This is a critical step, important to the finished vessel. In a tank furnace with an
overhead propane heat source, after skimming off unmixed particles, glass gathered
from the top will be cooler and not the quality of the preferable gather from the hotter,
deeper center.

Ifit is a mixture of the two, the glass may have cords or uneven ridges in the surface
resulting from the temperature variations within the substance. The gather or glob is
rolled into shape against the smooth surface of a steel-topped table, the marver, or in a
wooden-cupped block. At this point the glass which was melted from its basic
components of sand, soda ash, lime and potash at about 2500 degrees F, and maintained
at a blowing temperature of 2200 degrees F is about the consistency of honey.

According to paragraph 1, all of the following are true about the world of
glassblowers EXCEPT that .............c.ocu.0t

1) it has its own trade union 2) it has its own history

3) it has its own language 4) it has its own customs

The word “uneven” in paragraph 3 is closest in meaning to ...................... :
1) not regular 2) not distinct 3) detailed 4) continue
The passage mentions all of the following terms EXCEPT ...................... .
1) potash 2) shears 3) propane 4) marver

Why does the author mention honey in the last paragraph?

1) To add variety to an otherwise boring topic

2) To mention a substance favorite a mong the glass-blowers

3) To draw attention to the fact that glassblowing is an environment-friendly process
4) To facilitate understanding of a concept mentioned in the same sentence by example
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The passage provides sufficient information to answer which of the following

questions?

I. Why was there a trend toward uniformity of assembly line production in the past 15
years?

I1. What is a specific advantage of propane as a fuel for glassblowing?

II1. What is the reason behind the fact that sometimes the glass may have cords?

1) Only 1 2) Only 11 3) Only III 4) 1 and III

PASSAGE 3:

The conservation and preservation of cultural heritage is one of the main concerns in
Iran today. The oldest pottery made of clay which was found in Iran dates back to 8000
B.C. Glazing, however, was developed during the reign of the Cassites (1170-750
B.C.). Pottery is the most abundant tracer in all archaeological excavations. PIXE as a
non-destructive technique has been extensively applied to this field. For archaeological
purposes, major elements and trace contents are good enough to characterize the pottery
material and to determine the clay and its sources.

The majority of the surface coating applied to ancient pottery fall into one of the two
principal types. The first involves the application of a clay-based slip with or without
the addition of mineral pigments. The second involves the information of a vitreous
layer or glaze over the pottery surface. Glazes can be of high lead, lead-alkali, alkali and
lime types. They can be transparent or opacified, typically with tin oxide; and they can

be decorated using a range of colorants, including Cobalt blue, Copper turquoise, Iron
oxide red, Manganese black and Copper/Silver luster.
It is well known that the iron content of clay, its firing condition (such as temperature,

oxidation or reduction) have important effects on the body color of clay. The clays with
lower content of iron and low firing temperature have lighter color. It is also reported
that during the filing, the Ti present in clay as an impurity can be responsible for
increasing the coloring effect of metallic oxides, especially iron oxide.

The word “abundant” in paragraph 1 is closest in meaning to ...........cccccv..

1) official 2) plentiful 3) optimized 4)i 1nexpen51ve
The word “they” in paragraph 2 refers to ..........c.cc.cee..e. :

1) pigments 2) colorants 3) glazes 4) types

The passage mentions all of the following sets of terms EXCEPT ............cccou.el
1) Silver luster, Barium and Copper 2) Iron oxide, Copper and Manganese
3) Cobalt, Iron oxide and Silver luster 4) Manganese, Iron oxide, and Cobalt

According to the passage, which of the following statements is true?

1) The body color of clay is influenced by the iron content of clay.

2) Surface coating applied to pottery nowadays is one of three types.

3) Glazing predates the oldest pottery made of clay discovered in Iran.

4) Major elements and trace contents can be used to increase the quality and texture of clay.
The passage provides sufficient information to answer which of the following
questions?

I. The oldest pottery in Iran was discovered in which city?

II. How does Ti present in clay affect iron oxide?

II1. Which of the colorants mentioned is more frequently used in Iran?

1) Only 1 2) Only I 3) Only 111 4) Il and III
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